TRAIN 92 WAS TRAVELING AT FOUR TIMES THE SAFE SPEED LIMIT

The derailment of a VIA train near Burlington, Ont., left three dead and dozens injured. It appears the train was traveling too fast when it jumped the tracks

near a switching signal before the engine collided with a building beside the tracks.
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Commuter train 92 heading for Toronto traveling at 108 km/h as it reaches the outskirts of Burlington.

THE FINAL MANOEUVRE
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The train approaches a switch point intending to change tracks to the right rail. The speed limit for the manoeuvre is 15 mph, the train is taveling four times that speed

Switch point

Immediately after clearing the switch point, the engine with three crew members inside jumps the rails.
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The engine, now free of the tracks,

Switch point

BUILDING

appears to have jumped its bogie, or wheeled undercarriage.

3. THE CRASH, FATALITIES AND INJURIES
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while still moving forward and strikes a building

Free of its bogie wheels, the engine rolls over on its side,
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The front bogie travels

on alone for 200 metres or so.

All three of the engineers likely
die on impact with the building.
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in the first passenger car, which rolls over with the engine.

Most of the injuries to passengers likely occur

o

Switch point

2o 09900
[T T T00

RICHARD JOHNSON / NATIONAL POST

SOURCE: NEWS REPORTS



